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The Number of Aptitude Tests in a Differential Aptitude Test
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According to Guilford the following is not the characteristic
feature of creative people
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Fluency
Rigidity
Originality

Redefinition
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The last stage of Kohlberg’s moral development is

1. Morality of individual principles, conscience
2 Obedience for avoiding punishment

3. Authority, maintaining social order

4 Agreements, Individual rights
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In this defence mechanism an individual tries to attribute his
own defects on others is

1. Regression
2 Fantasy
3. Projection
4

Displacement
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Piaget termed the cognitive structures responsible

person’s organised patterns of behavior as

1.
2.
3.
4,

Assimilation
Adaptation
Schemata

Accommodation
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The following is known as ‘Gang age’
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Infancy
Early childhood
Adolescence

Late childhood
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A child who is attracted to participate in running race on
account of the prize announced for every participant, against
his wish not willing to participate for fear of spoiling his new
dress. This conflict is

1. Approach - Avoidance
2 Approach - Approach
3. Avoidance - Avoidance
4

Double approach - Avoidance
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Children from this home environment show childish,
withdrawal, dependence, fear, jealous behaviours

1. Accepting the child

2 Harmony, Good adjustment

3. Consistent, accurate discipline
4

Over caring, pampering
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One of the following is a projective test

1. Bell’s adjustment inventory

2 Self confidence inventory

3. Vinland’s Social maturity scale
4 Thematic apperception test
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The characteristic feature of an individual with “adjustment”
is

1. Self pity

2. Emotional imbalance
3. Good mental health
4. Unrealistic attitude

édcgzrew KXo ;5§_§o D), ©Fe0
1 6395&55"5595
2 éEEOSK VS
[©)]
3. 009 SPSHY 83(3_8?(50
4 SEUSHREMSale



11.

12.

According to Golman, the skill of ‘understanding others’

comes under this dimension of emotional intelligence

1.
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Social contact
Self contact
Self management

Maintenance of relations
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In an experiment this variable plays the role of ‘cause’
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Dependent variable
Independent variable
Intervening variable

No variable
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Identify the unrelated pair

1. Observational learning - Bandura
2 Theory of instruction - Bruner

3. Insight learning - Pavlov

4 Trial and error theory - Thorndike
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This theory originated from Gestaultism

1. Operant conditioning

2 Classical conditioning
3. Trial and Error learning
4 Insight learning
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16.

The laws and theories come under this category of concepts

1.
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Conjunctive concept
Disjunctive concept
Relational concept

Simple concept
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People remember incomplete or interrupted tasks better than

completed tasks — This is known as

1.
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Dezavu
Zeigarnik effect
Hallo effect

Gestaultism
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17.

18.

The law of learning that encourages Drill and Home work is
1. Law of Readiness

2 Law of exercise

3. Law of effect
4

Law of Interference
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The memory process which refers to the mental process of
retrieval of information from the past without any cue or base

1. Recognition

2 Recall

3. Redintigrative memory
4

Re-learning

D AFDS G0 THOT e IW)HFY) VOTY KD
BT 08 (PI&c 5%0

1 009

2 @582@&68‘3

3. KOSTIOEG V)0

4 DITEFHS0



19.

20.

The interference of new memories with the retrieval of old
memories is

1. Proactive inhibition

2 Deja vu

3. Retroactive inhibition
4 Redintigrative memory
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If a child gets bored while doing an activity, it’s a sign for
this -

1. the child needs remedial teaching
2 the child is not intelligent

3. the activity became mechanical

4 the child is an under achiever
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When learning in one situation hinders or weakens the
learning in another situation. This is

1. Positive transfer of learning
2 Negative transfer of learning
3. Zero transfer of learning

4 Bi lateral transfer of learning
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According to Vygotsky, the speech at three years of age in
language development is

1. Private speech

2 Silent inner speech
3. Social speech

4 Outer speech
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24.

Pickup the correct statement

1.

2
3.
4

Eclectic counselling is a mixed method
Directive counselling is counsellee centered

Non-Directive counselling is counsellor centered

In Non-Directive counselling, counsellor directs the

solution
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School development plan is prepared by

1.
2.

Ward members under the leadership of Sarpanch
Team of teachers under the leadership of Mandal
Educational Officer

Parents of Students in the School Complex

School management committee
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25.

26.

NCF 2005 guidelines on home work at primary level is,

1.
2.
3.

4.

Two hours home work for a week upto 2™ class
Two hours home work for a week from 3™ class

Two hours home work for a week for all primary
classes

One hour home work for a week for 1% class
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Writing disability is

1. Dyslexia

2 Dysphasia

3. Dysgraphia

4 Dyscalculia
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The weightage to be given for written works in formative
evaluation
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1. 25 marks
2 20 marks
3. 15 marks
4

10 marks

The following learning resource is confined to teachers
1. Seminar

2 Books
3. Internet
4

In-service trainings
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29.

30.

For successful teaching, teacher has to

1. Use textbooks only as sources of teaching

2 Follow teacher centered methods for teaching

3. Limit the evaluation to classroom activities only

4 Prepare and execute teaching plans considering the

diversified needs of the students
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This chapter of RTE Act - 2009 contains the rules and
standards prescribed for school

1. Chapter I

2 Chapter 11
3. Chapter VIII
4 Schedule
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61.

62.

63.

“Can you prove you have courage?” said father with a scowl.

Choose the meaning of the word “scowl”.

1.

2
3.
4

the expression of pleasure
very anxiously

an angry look

breathing roughly

Gopi’s mother made a futile attempt to get up.

Choose the synonym of the word “futile”

1.

2
3.
4

voracious
unsuccessful
unwilling

shocked

Some of them lived far away from the civilized society.

Choose the antonym of the word “civilized”.

1.

2
3.
4

cultured
polished
uncultured

refined



64.

65.

66.

67.

Choose the word with correct spelling.

1. humaniterian
2. humanitarion
3. humanetarian
4, humanitarian

The old Giant leaps down the stairs, into the snowy garden.

1. to give way to others

2. to hop down from a place
3. to make arrangements

4. to live happily

Choose a word with a suffix.

1. research

2. nature

3. answer

4, matriculation

Choose the simple sentence from the following.

[E—

The baby cried.

2 He went to market and bought vegetables.
3. Study. Else you will fail

4 He felt hungry so he ate an apple.



68.

69.

70.

71.

Choose the grammatically correct sentence from
following.

1.

2
3.
4

What

Why are you angry on me?
Why are you angry with me?
Why do you angry on me?
Why did you angry on me?

yesterday?

Choose the correct verb and subject that fit the blank.

1.

2
3.
4

did you did
will you do
do you do
did you do

The sitar can produce harmonious music.

Choose the part of speech of the word ‘produce’.

1.

2
3.
4

a verb
a noun
a pronoun

an adjective

the

My elder sister, who lives in Hyderabad, will come here
tomorrow.

This sentence has

1.

2
3.
4

a conditional clause
a non-defining relative clause
a defining relative clause

a noun clause



72.

73.

74.

75.

I shall give her the message as soon as | her.

1. will have seen

2. would have seen

3. would see

4, see

He arrived at the station on foot.

Choose the correct article that fits the blank.

1. a

2 an

3. the

4 No article is needed

The accident sadly resulted  the death of a man.
1. with

2. in

3. at

4. for

Indian generals are not so good as ours.

Choose the comparative degree of this sentence.

1.

2
3.
4

Indian generals are better than ours.
Indian generals are the best generals in the world.
Our generals are better than Indian generals.

Our generals are as good as Indian generals.



76.

77.

78.

Two ladies stand in the way. You are very eager to catch the

train.

The expression that can be used in this context is :

1.

2
3.
4

Oh no, ladies !
How lovely !
Good luck

Excuse me !

The police arrived in no time.

Choose the correct question tag of this sentence.

1.

2
3.
4

Weren’t they?
did they?
haven’t they?
didn’t they?

“You will pick Oakum tomorrow morning,” said the
gentleman

Choose the correct reported speech of the sentence.

1.

The gentleman said that he would pick Oakum the next
day morning.

The gentleman told that he will pick Oakum the next
day morning.

The gentleman said that he would pick Oakum
tomorrow morning.

The gentleman asked that he would pick Oakum
tomorrow morning.



79.

80.

81.

82.

Shivaji once attacked the city of Surat.

Choose the passive voice of the sentence.

1.

2
3.
4

The city of Surat is once attacked by Shivaji.

The city of Surat has been attacked by Shivaji.
The city of Surat was once attacked by Shivaji.
Shivaji was once attacked by the city of Surat.

How shall I treat you

Choose the punctuation mark that comes at the end of the
sentence.

1.

2
3.
4

An exclamation mark
A comma
A question mark

A full stop

I request you to attend my elder sister’s marriage on 9™ July

along with your family.

The above line appears in :

1.

2
3.
4

A letter of invitation
A diary entry
An essay on marriages

A description

Choose the list of words in the correct alphabetical order.

Ll

strange, bloat, approach, harmony
approach, bloat, harmony, strange
bloat, strange, harmony, approach

harmony, approach, bloat, strange



83.

&4.

85.

Read the passage and choose the correct answer to the
question given after.

As a teenager, Nicholas had two passions, photography and
kite flying. During a trip to India to make a photo report on
kite making, he learnt about the unique style of photography.

Nicholas was on a trip to India because

1. he was a teenager

2 he wanted to know more about India

3. he wanted to make a photo report on kite making
4 he wanted to fly kites in India

Read the passage and choose the correct answer to the
question given after.

There are many uses of libraries. A library spreads
knowledge. The poor students who cannot afford to purchase
books, can make the best use of a library. They can borrow
books and gather knowledge.

The poor students who cannot afford to purchase book, gather
knowledge by:

1. spreading knowledge

2 borrowing books from the library
3. not making use of a library
4

meeting his family members

The following is not a part of curriculum.

1. Selecting teaching approaches

2. Outlining objectives and learning experience
3. Bringing about the desired out comes

4. Providing facilities to schools.



86.

87.

88.

89.

The expression, ‘Communicative competence’ was coined by

1. Hornby
2. Hymes

3. Watson
4. Skinner

Choose the reading text that increases the child’s
sensitiveness to beauty of language and thought and helps to
develop his sense of imagination and appreciation.

1. Poetry

2 A lesson in a supplementary reader
3. A short story

4 An article

Classroom activities are carried out only in the target
language. Use of mother tongue is strictly avoided.

This principle is followed in :

1. Grammar translation method
2 Bilingual method

3. Direct method

4 S-O-S method

This is not an example of a Proficiency test in English

1. EAMCET

2 TOEFL

3. IELTS

4 The English component in Civil Services examination



90.

I left my phone on the left side of the room

The word ‘left’ is used here as a

1.

2
3.
4

synonym
homonym
antonym

homophone
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92.

93.

If P=4x", T=>5xand R = 5y then 1;55 is equal to
P =4x*, T =>5x 5805 R =5y &0 };Tg Dens
1. Xy
2. xy
3. Xy’
4. 4x

L.C.M of 48, 56, 72 is

48,56, 72 © ..

1.
2
3.
4

Ravi has ¥ 20 and Madhu has 30 times more than Ravi’s

108
1080
1008
180

money then Madhu has (in Rupees)
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l.

2
3.
4

400
600
450
650



94.

95.

96.

Mahesh earns I 375 daily. If he spends I 200 then his

savings in a day is (in Rupees)

S0 (DAOSIH T 375 DorBoH. s T 200
PERNIDS, (HOE 2 S5 PHYT Jogo (e ahos’)

1.

2
3.
4

275

175
205
105

Number of Symmetric lines for a Rectangle is

QY SET(HINIH Ko FHS Dpo vos

1.

2
3.
4

2
3
1
4

If %+% =1 then the value of ‘x’is

%+%:1 L90NS ‘x’ @Jo§b_ RISUINS

| DWW WA AW
wl| L



97.

98.

99.

If 3 =729 then x* is equal to

3* =729 eonsS x° &o0%),. e

1.

2
3.
4

25
49
16
36

If 3x + 4 = 5x — 4 then the value of ‘x’ is

3x+4=5—-4 ®onS ‘X’ @aﬁb IO

1.

2
3.
4

4
3
2

1

Sum of two integers is 18. If one of them is (—20) then the

other number is

Bock> YrgpoPge Ineo 18. 208’ 288 (—20) @00

[elelrINIA)

1. 8
2 18
3. 28
4 38



100.

101.

102.

Product of the integers in between (— 4) and 0

(—4) 0835w 0o ;53655 Ko Zgﬁgboaazgea Q0

1. 6
2 5
3. -6
4 0

The weight of a goat is 27 kgs. If the weight of a horse is 18
times the weight of the goat then weight of the horse is
(in kgs)

2.8 T 0P 27 Sden. a8 DT 20 ¥ 2HIDH 18
B @000 Mo Bty 2mY (3ded”)

1. 486
2 468
3. 438
4 482

If the sides of a triangle are 2a + 3b, b — a, 4a — 2b then its
perimeter

o8 (@gheyy dhzeen 2a+ 3b, b —a, 4a - 2b @onS

e3 (DaLEY &@g?eeﬁ

1. 5+2b
2 S5a+b
3. 5a—2b
4 S5a+2b



103.

104.

105.

In a quadrilateral, the angles are x°, (x+10)°, (x+20)°, (x+30)°
then x is equal (in degrees)

S 6@53632)& SPerren SEORV x°, (x+10)°, (x+20)° 5085w
(x+30)° @ans x BnZ) ey (GRS

l. 85
2 75
3. 65
4 45

If area of the triangle is 220 cm® and its height is 11 cm then
the base of the triangle is (in cm)

2% (@b Brogh 220 0.0 O D A5 11 30.2
@00S &3 (HEHe) e (0.20.08°)

l. 40
2 30
3. 20
4 10

If perimeter of an equilateral triangle is 54 cm then the length
of its side is (in cm)

28 DD (Qomsn Bl $HeRSe 54 0.

©00T T g0@0 @YY, FEY (20.20.08°)

1. 16
2 17
3. 18
4 19



106. One of the following two digit number is a perfect square and
a perfect cube
808 TAE” IBYY S0 $o8A0 WOIY oIS e
BO&OS® Sog

1. 32
2. 91
3. 16
4. 64

107. Express 10 cm in kilometers

10 20.20. 0 §6G§>oeoge56 SgEREST

l. 0.001

2 0.0001
3. 0.00001
4 0.01

108. The difference of period and periodicity of 0.99
0.99 &), SO HOO VIO &Y, &

1. 99
2 97
3. 96
4 90



109.

110.

111.

40% of a number is 800 then the number is

2% nogpgess 40% 358 800 @S &5 VoS

l. 2500
2 2300
3. 2200
4 2000

If cost of six books is ¥ 96 then cost of 15 books is
(in Rupees)
e YRTO o T 96 oS 15 HIT°e I (Srrownes®)

l. 240
2 300
3. 320
4 340

If diameter of a circle is 14cm then its circumference is
(in cm)

28 5B Foo¥) TgOI 14 0.0, oS o SepSod
(20.20.08%)

1. 154
2. 54
3. 44

4. 144



112. Median of first ten natural numbers is

[0 10 26?.”.7"232602135@ S5JC5§K€§533

1. 2.5
2 3.5
3. 5.5
4 10

113. “Pie” chart consists of

1. Squares
2 Triangles
3. Sectors
4

Rectangles
“27 Do B EOR &oenod.

I S res
2. | Deheren
3. 3D
[>5)
4. BEISB e
o

114. If A=3x*—2x—5; B=-4x"+x—3 then B — A is equal to

A=3x"-2x-5 B=-4x’+x-3 @005 B-A&

SRONEINTA

1. 7X* +3x +2
2 ¥ —3x+2
3. x4 3x+2
4 7xt —3x -2



115.

116.

Aryabhatta was appointed as the Chancellor of Nalanda
University by this king

1. Samudra Gupta

2. Chandra Gupta Vikramaditya

3. Budda Gupta

4. Bimbisara

e SOOT ZJ%SZJCS‘SQ)GSJ"K)% 038
QAVDOWS T,

I POt e

2. oK SIS
3. gy

4 DO EIED

"Classifies the given numbers into even and odd numbers” —

this specification comes under this objective

1. Knowledge

2 Understanding
3. Application

4 Skill

“RDES VoPFO 98, 232 oPgeT SBEOOER” e
D)ASTE B OFFINTH TodIO

1. ES IS INOY

x
2 (ORI
3. AIBIPH S
4 g‘@s'a§;5ao



117. One of the limitations of "Heuristic Method" is

1. Child Centeredness

2 Develops Self Learning

3. Uneconomical in terms of time
4

Inculcates scientific attitude
@3031189 ?ég@€5£ Ko 2.8 D808

1. 8% SoQaHes

2. 0% EFHIN DOFOBODM
3. %S 350500 80506008
4. Q050 3O 2oFos08

118. The instrument that is not in “Mathematical instrument box”

l. Protractor
2 Divider
3. Compass
4 Tape

Kede DBEo DEH BoL DOEEI

1. 857
2 Q2R
3.0 SHE /P
4 RO



119.

"Curriculum is a tool in the hands of an artist (teacher) to
mould his material (pupils) according to his ideals (aims) in
his studio (school)" — This definition is given by

1. P. Samuel

2. Alberty

3. Siddiqui

4. Cunningham

“ATGRETRY ETTE (&rErgoind) TS &3 e¥ereD
OO &3 SFF S80S (FFToS’), &5 A
(e5) D BRYBETIS &IBFACT &8 PFT0” &
3%&0&5?&

1. . %”353?55_

2 83523383
3. ?oggs
4 §Q)oﬁisv°5>



120.

The Academic Standard to be tested through the following test

item

"Which is the largest 4-digit number formed with 5, 7, 2, 8"

1.

2
3.
4

Reasoning - Proof
Communication
Connection

Representation - Visualisation

5,7, 2, 8 08" Y& TeniH 080 @l dogg 8"
B2 D8Fr0¥0 oo BFOBEONS arydresn

1.

2
3.
4

SPEETD BIPE - DBTDeren FO50E
555363753&3

2930000

(FBGHESe - CSO)%§§6£3



121. The method used to separate dissolved substances from a
liquid is
1. Crystallisation
2 Sublimation
3. Condensation
4

Sedimentation

2.5 (550 08 TPAS” SOAS HTrToRd IHIaHES

T 288

1 éq)é%&dsao
2 ééo)éééiw
3.  JroBsseo
4 Celeplete

122. The grease stains are removed by using ...
1. Ammonium hydroxide
2 Sodium hydroxide
3. Aluminium hydroxide
4

Calcium hydroxide

\fler S8 SToRoBEdS 78 Sergo
L &3m0 TIEHE

2.  F&avo TEEE

3. oersdabo TEE)E

4. 900 TEEE



123. If a body in translatory motion moves along a curved path
then the motion is

1. Oscillatory motion
2. Rotatory motion
3. Curvilinear motion
4. Uniform motion

TS SoS508° &) 309 S\$Cy Srgod’ &8,

€3 WOS0

1. Eos SIS0

2. (@Hes Soso

3. 3E3Han Seso
4. DSes0

124.  Activated Carbon is used in making of
1. Fire works
2 Water purification systems
3. Antiseptic ointments
4

Cooking utensils

&JQZ%Q‘SJ&&‘S 962)5363 BIS° srero

1. 2TETPROT® $35°8S°
2. HBD HH0TD ;5535658
@ (3]
3. 508398 302006535085 53358 S°
4, Soe|Be S05rES’



125. The familiar form of polyester used for making bottles,
utensils, films, wires is

Dren, $083DBETEeD, DS e0, Hfeo 3083 SWIOD SAT
DAL EHTRFA0LE WHBNS FOPYE Eao¥). Erdo

1. HDPE
2 PVC
3. PET
4 LDPE

126. The gas that present in higher quantity in air is
l. Carbon dioxide
2 Oxygen
3. Hydrogen
4

Nitrogen

mOS” D) S $OITe0S &) TAY
1 S @ &F)6
2 eaégws

3. &=

4 é@%s



127. The disease that spreads through House flies

1. Typhoid
2 Malaria
3. Dengue
4 Filaria

Bexo S8 J°§Zao€§ 50

L. 8Yoné&
2. 388057
3. 307@5

4.  88asr

128. Centre for collecting and conserving the genes of different
plants

1. Seed development Agency
2. The National Bureau of Plant Genetics
3. Deccan Development Society

4. Council for Green Revolution

I8 © RFHOD EOOD PEHBR SIS
1 AEITDI B0

2 IS a35°§68 esD 3;05550&%

3. 558 BI85l 3

4. TS 6 BS osergad



129.

130.

The fibre like structures that connect two bones are

1. Tendons
2. Cartilage
3. Joints

4. Ligaments

BOL ASNEOS ET D 050 @@&ww

1 e‘:‘>oc;°5“)
2 S5JQ‘)C53€7°?&)>
3. 3§

4 X0

Identify the incorrect pair

1. Budding — Amoeba

2 Fission - Paramecium
3. Fragmentation - Fungi
4

Regeneration — Planaria

208 T9S° %Oz eses

1. 8585550 - edoer
2 Y, - FBWRH0
3. %ok - 8dow
4 DIHSG - FIBAH



131. The Red data book is published by

BE Ger enF (PHOOAIH

1. ICRISAT
2 ZSL

3. IUWC

4 BSI

132. The season for Kharif crops
1. June to October
2 October to March
3. November to February
4 December to April

285 Hoerzreo

1 &S 0D e

2 ©€26 0D 579)
(oY)

3. 350286 S0 esd

4. &2028 00D DS



133. In Mahajanapadas ‘Bhartukas’ means
1. Head of the family
2 Workers
3. Village Head man
4 Judge

S0 IHTS” W ST
1L 308 cozsed
2. 2SHew

3. TRy

4. TgOHITY

134. First woman Loco driver in India
1. Surekha Misra

Surekha Bachchan

Surekha Yadav

Lol

Surekha Raman

WSS TFOS” DEFS DoAewe DOoBS (@I
1. 200y e

2 QOB 23S

3.  RBgr arES

4 X0y ovoR



135. Shivaji’s Guru was
1. Tulasidas
2 Kabirdas
3. Samarth Ramdas
4 Moropanth

o Ko

1 OOV

2 BDE>H

3. MY oo
4 IeE*HoS

136. The poets in Sri Krishna Devaraya’s court were called as,

1. Navaratnas
2. Dasapathis
3. Asthadiggajas
4. Navanidhis

SR BS0°a00 RIS P 3U° DenSTTED

38D

&

1. 556@3@
2

3 @Q@wa
4

SRAGven



137. The first President of India was
1. V.V. Giri
2 Sarvepalli Radha Krishna
3. Neelam Sanjeeva Reddy
4 Dr. Babu Rajendra Prasad

PESBTIS &0 o7 JD8
1 2.2.A8

2 BONDQ TR

3. N0 ¥oBSVE

4. @ erewe B0 BIE

138. The resource that never get exhausted is

1. gas

2 coal
3. water
4 wind

IHNDS SOAFR FEII

1 N’S&w
2 AN

N
3. afet)
4

o)



139. The Eldest son of Shah Jahaan was
1. Shah Shuja

2. Murad
3. Dara Shukoh
4. Aurangzeb

A DY HIPEE
1 XL Hoee
2 Snoe&
3. oeoe §°
4 Eilelehtin)

140. Mirabai is a disciple of

1. Kabirdas

2 Ravidas

3. Guru Nanak
4 Guru Gobind

DT2T00 B Fadgoren
1 sD6S

2 BAT®R

3. hStethunis
4 KHAI0E



141.

142.

This emperor granted a right to Robert Clive to rule Bengal
1. Bahadur Shah

2 Shah Alam
3. Jahangir

4 Anwaruddin

BorS FOHIM oPf K TK) DYDS H(ESY
00 =
2°ErE X

1

2 L e300
3. 2355°0RE
4 @50363@5

Civil Disobedience movement took place in the year

%%5691023356 &05590 2BRAS HoSBY0

l. 1920
2 1930
3. 1945
4 1910



143.

144.

British Viceroy in India at the time of Independence was

1.

2
3.
4

Rippon
Mountbatten
Curzon

Canning

PPESBTI (S0(B0 SDTOS (DAR JTPan )T

1

2
3.
4

G
S30eSerE3S
o)

5°00”

The Nizam who wanted Hyderabad to remain as an
independent Kingdom at the time of independence is

1.

2
3.
4

Usman Alikhan
Aagakhan

Ali khan

Syed Ahmad Khan

THSEOBF0 SRYSYE FETETE HB0S Tregon

GOWPOL 2TP0WN D°0

1.
2.
3.
4.

c%ﬁ"&s O
eSITP°R

s

260‘5355 @@&5@?5



145. A basic process among the following is
1. Experimenting
2 Hypothesising
3. Data Interpretation
4

Classification

208 FAS° 25 SOE (HEaD
1 PBTK0 S

2 DBTONS (DS

3. G0 g0

4 Sp5BoEo

146. The objective that belongs to affective domain is
1. Analysis
2 Valuing
3. Articulation
4

Manipulation

PR SO H022000DS ©5§0

1. DA
(qp]
2 Z)en;%%aocio
3. c%a‘;)ds'a
4 TR0



147. ‘Curriculum should be revised periodically based on research’
— This is the suggestion of

1. Kothari Commission

2 NPE-1986

3. Eswari Bhai Patel Committee

4 UNESCO Planning Mission of Experts

DOFETO STTOT IYPETERL SO0
DAZoTd’ - B 2SS DS

1 £od RS

2 An3-1986

3. axbardo 98 58

4. OSIF) TV0K WAS & AENG)

148. The memory power of normal individual is heighest in the
following context

1. by seeing

2 by telling and doing
3. by hearing and seeing
4 by reading

308 H0csE)0S” Ferer 55§ arsEE wRZOr Gotwob.

1L Sedseds’
2. D), s oS’
3. A, SEASTIS®
4. SBISTIS®



149. Lecture demonstration method is mostly useful in situations

where

1. there is availability of air and ventilation

2. the apparatus are costly and rarely available
3. there is a good demo room

4. there is scarcity of time

B3 H0PAS” EITH (PENT HES S50

@ ()
EDRTREESTS08.
1 O, IS0 0Herend” &)@
2. PBBS 2B5Ten @ 00T VoSTYeS”
3. 00 [PETYTAE €)Y
4. IDAIETS HORBS’

150. An example for projective test is

1. The Bell Adjustment Inventory

2. Minnesota Multiphasic Personality Inventory
3. Mechanical Aptitude Test

4. Story Completion Test

(PERE JOSAE IEAD &TISes

1 & BS &[0 §3[0erd

2. YFer 0§AE 980 §3j0ed
3. Odrm PG orol@E SR

4 EEPrOes O8A



